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WRLHAM 186040

August 10:

8.89°47'E, on random line bet. Seos. 9 & 16,

Set temp. 4 Sec. Cor.

Intersect N. & S. line, 30 lks. 5. of Cor. of Secs. 9,
15 & 16.

Thence I run

W. on true line het. Secs. 9 & 16.

Ascending through timber; hill brs. H.30°E. & S.30°W.

Leave timber, brs. N. & 3.

Ridge-point, brs. N.20°W. anddS.20°E,

Enter heavy timber, brs. N.30°W. and S.30°E.

Rill, 1 1k. wide, rTuns S.30°E.

Ascend.

Hill brs. N.& S.

Leave timber, brs. N.20°W. & S.W.

Ridge-point, brs. N, &-S.

Descend S.W. slope.

Enter timber, brs. N. & 3.

Bottom of revine, course 8.

dscend steep slope, hrs. N. & 8.

Enter scattering timber.

A point, 1000 f£t. above Sec. Cor. and

Set an ironstone, 30 x 15 x 6 ins., 18 ins. in ground,

(strike rock and place mound of stone fiftmly about Cor.

for % Sec. Cor., marked % on W. face; from which’
A fir, 15 ins. diam.,brs. N.17°H., 42 lks. dist.,
marked 8 9 B T. ’
A fir, 20 ins. diam.,brs. S.35°E., 88 lks. dist.,
marked # S 16 B T.
Ridge=-point, brs. N.30°E. and S. 30°W.
Descend steep slope W. )
Rill, 1 1lk. wide, runs S.10°W.
Ascend S.E. slope.
Point, 100 ft. high.
Descend S.W. slope.
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